A company that produces fine crystal knows from experience that 10% of its goblets have cosmetic flaws and must be classified as “seconds.” Among 20 randomly selected goblets, what is the probability that at least 8 are seconds?

A certain area in the eastern United States is, on average, hit by 10 hurricanes per year. Find the probability that this area will be hit by more than 3 hurricanes in first 6 months in the coming year.
The diameter of a shaft in an optical storage drive is normally distributed with mean 0.2520 inch and standard deviation 0.0005 inch. The specifications on the shaft are between 0.2485 and 0.2515 inch. What proportion of the shafts does not meet the specifications?

It is assumed that the time failures for an electronic component are exponentially distributed with a mean of 50 hours. Based on this information, what is the probability that a randomly selected part will fail in less than 10 hours?
Suppose that past history shows that 60% of college students prefer Brand C cola. A sample of 50 students is to be selected. Find the probability that at least 20 prefer brand C using normal approximation.

At a computer manufacturing company, the actual size of computer chips has a mean of 1 centimeter and a standard deviation of 0.2 centimeter. A random sample of 36 computer chips is taken. What is the probability that the sample mean will be below 0.95 centimeters?

